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CoeaunHuTe nocrieqoBaTenbHO TOYKK,
KoopauHaThl KOTOPbIX y3HaeTe,
PEeLUVB BCE YpaBHEHMSI:

A B o

—2x+19=5x-16
8x—25=3x+20
6—-y=33y-298)
Sv+1,2)=Ty+4
4x-3)-16=5x-75)
3x—17=8x+18
11-5y=12-6y

4y +(11,8-y)=3,8—-5y
3x+16=8x-9
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CoeanHnte nocneaoBaTeNibHO TOYKM,

L LA E LN =

KoopauHaThl KOTOPbIX y3HaeTe,
PELUVB BCE YpaBHEHMSI:

3x+5=8x—-15 (x; 0)
3x+16=8x-9 (x; 4)
4+25y=6+24y 2;p)
4x—-3)-16=5x-5) (x; 3)
Sx+27=4x+21 (x; 0)
43 -2y)-42=203+2y) (3:»)
34x-8)=3x-6 (¢ -2)
1-5(1,5+x)=6-17,5x (s —4)
35-x)+13=4(3x-298) (x; 0)

CoeamHnTe nocrneaoBaTeNbHO TOYKM,
KOOpAMHaThbl KOTOPbLIX Y3HaeTe,

L LA E LN =

PEeLUB BCE YpaBHEHMSI:

15x-3=10x+ 12
2x-25=-5x-17
45-2y)=2(1-y)
3y+16=8y-9

4x+ (11,8 -x)=3,8 — 5x
3y+22y-3)=8-7(y-2)
2-5x=x+14
Sp-7)=3(yv-4)-29
11-5y=12-6y
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CoepguHuTe nocnenoBaTernbHO TOYKU,
KoopauHaThl KOTOPbIX y3HaeTe,
PeLUnB BCe ypaBHEHUS:

PR WD =

—12x-3=11x-3
1,4-0,6y=0,7-0,5y

16 -3x=4—-"Tx

4x+ (11,8 -3x)=5,8-5x
4y+12=3y+8
3(4x—-5)=3x-6
3y—17=8y+18
0,18x—2,83 =0,19x—2,89
Sp+7)=3(y+4)+27
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CoeaunHuTe nocrieqoBaTenbHO TOYKK,
KoopAaMHaThl KOTOPLIX y3HaeTe,

L PN R W=

PEeLUVB BCE YpaBHEHMSI:

6-2y=8-3y
15x+3=10x—12
“Sx—11=-6x—-12
3x+5=8x-15
S5(x+3)=27+3x
3y+@4-2)=6
S5y-(13+y)=y+ 14
32x—4)-2(x+3)=-2
4y-3=2(7T-y)+1
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CoepguHuTe nocnenoBaTernibHO TOYKU,

A U O
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KOOpAMHaThbl KOTOPbLIX Y3HaeTe,
peLnB BCe YypaBHEHUA:

6 5 x
S I R
6x+10=4x+12 (x;3)
Tx+25=10x+16 (x; 6)
3y+16=8y-9 Sy
0,4(6y—7)=0,53y+7) Sy
42 -x)=72x-4) (x; 8)
32x-1)+7=4 (x; 6)
S5y—7=11+2y Ly
9,6 -(2,6—x)=4 (x; 8)
1,7-0,6y=0,3-0,4y (-6;y)
. 17-4x=5-6x (x;5)
. 2,8-32x=-48-5,1x (x; 6)
. 02(5x-2)=032x-1)-0,9 (x;3)
< 2y-15(p-1)=3 (L)
. 1-51,5+x)=6-7,5x (x;—4)
. 3y—18=8y+ 17 “4;»)
. 4(1-0,5x)=-2(3 + 2x) (x;=7)
Sx+27=4x+21 (s —4)
- y=15=43-2y) (2:»)

CoepguHuTte nocnenoBaTernibHO TOYKN,
KoopaMHaThl KOTOPbIX y3HaeTe,

A A U o
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peLnB BCe YypaBHEHUA:

3x—-5)+10=23+x)—- 14
1,22x - 4)+ 0,6 =3x - 3,6
16y—4=12y+38

5(7 —2x)+ 13 =9x + 48
43 = 7y) + 10 =—10y — 86
6y—72=4y—56

5x + (13,4 — 2x) = 16,4x
12— (4x+5)=7+x
52x-3)+11=6x

. 2(7-y)+13=y
cS5-32x-1)=4x-22

. 1,2x—-7=6x-16,6

. 2(1,2y+5)-1=2y+6,6
. 1,7x+0,9=2x

. 9-2(x+4)=2x+13

. 42+3x)+11=-15x-3
CSy+12=-3y+12

. 0,23y +2)=2,6y-1,6
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